EARAZROREIERT — 2 N— XBISY —F 2020568238 (k) 7TEEZEEHEIH

mﬂﬁ#i—?i‘:u A5 ¥R (xwlw | lmEmml - |5 5 eom 8
[AE4£] 175 :480,000 3 ~ 2% :154,000 3#&:86,000  ~ 43#%:58,000H” . 53 :38,000H
B\ BB BB Mk HE BF (F8) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
- . 4 4 | BTE 1:43.7 1-1-1-1 | 38.6 | — 2 434 BEkR (BEHE)
1lglg| 7Tk 0B2.0 (=) (-4) | TRSENER
L:24F2 v ML B:NYx HO4%5
S = 47 | TR 1:44.5 3-3-3-3 |38.5| — 1 505 | AEEL (BHE)
2 3| A M2avhRIZ 56.0 (@) 2 | ([B) JPNEH
R RYIYZIIZX B:h4O0—X KEHSE
# o5 | FEME 1:44.8 9-7-6-4 |38.2| — | 4 | 510 |BEEEX (BHE)
3 6 ) -4 X%2— 56.0 (11/2) (0) g?l;]f;
RNy aLhTr Biky bTLAN— ifz:Lset
0 EEiE ; —7-8- - SEEz (BEHB)
4 4| RIX= T X I 6 L (11.415/.21) 7-7-8-5 | 38.3 3 zzgs)) Vel
LT =TA2INT N B RN=JIT 1T FRBE%E
S 5 | AR 1:46.0 4-4-4-6 [ 39.6| — 6 477 | ERC (BEE)
5|77/ 7>3—4—-HX 56.0 (4) (o) |BEEEX
RiFkvvH/RkEF BIALLT Ry SRS
6lglg|Z1Y—TI—L 5 4 || S 1:(4;3).7 2222 (415 — | 5 (423 g;;ﬁ;‘g (BHE)
LN=Z—ba1—X B:YUTPEXT1— EdHhITT— L
2 P 5 o6 | SHEKX 1:46.8 8-9-9-9 |39.7| -— 8 e | BRI (BEB)
75|53 FYTFAT 56.0 (3/4) R L)
Z:arFaay b BATFUY EvJLy RT7—L4
. R sEEE A . 7. — SEEy (BHE)
gl1|1| 7>y >hTN SR =K 1(';?:1? ore |02 ! ?5)3 HEE
R:BALINS Ky IR BiAYART Sy =EEEie]
o N 4 6 | DIEEFIE 1:47.6 5-6-5-7 |41.1| — 9 488 | FEME (BEHE)
EE o | E—E=N=LZ7 54.0 ®3) 6) | (R U P N
LE—E-HLEr BE-E-FyNn—-> RS
® 1 — @B
13=3r= 8,9,3,7,2,1,4,5,6
2o =7r= 8,9,3,7,1,2,(4,6) ,5
3T—7— 8,9,3,7,2,6,1,4,5
43—F— 8,9,3,6,4,7,2,1,5
[ N
BB 8 2108 | | 71 K 3-8 1O | | # & 3-8 140M | | =8 3-6-8 410M
% B 8 110M 6-8 230 B & 3-8 160 3EE 8-3-6 1,420
3 1004 3-6 280M BB 8-3 4108
6 170

ARICOVWTRDTEEERROODE. TR LI,



